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Problems based on ages are generally asked in most of 

the competitive examinations. To solve these problems, 

the knowledge of linear equations is essential. In such 

problems, there may be three situations:

➢ Age some years ago              कुछ वर्ष पहले आयु

➢ Present age वर्षमान आयु

➢ Age some years hence         कुछ वर्ष बाद आयु

BASIC CONCEPTS



Types of Question

Type-2

Ex:- 10 years ago ratio of ages of 

A and B was 3 : 1 and after 10 

years the ratio of their ages 

become 2 : 1. Find the sum of 

present ages? 

Type-1

Ex:- The ratio of Asha and 

Sushma are in ratio 3:4 after 8 

year the ratio of their ages will 

be 7:8. What is difference in 

years between their ages? 

प्रकार-1
उदा: - 10 वर्ष पहले Aऔर B की
आयु का अनुपात 3: 1 थाऔर 10 
वर्ों के बाद उनकीआयु का

अनुपात 2 : 1 हो गया, वतषमानआयु

का योग ज्ञात कीजिए ?

प्रकार-1
उदा: -आशाऔर सुर्मा की

आयुका अनुपार् 3 : 4 है 8
वर्ष के बाद उनकी उम्रका

अनुपार् 7: 8 होगा। उनकी
आयुका वर्ों में क्या अंर्र है?



Types of Question

Type-4

Ex:- Ratio between the ages of 

Mother (M) and her Daughter (D) 4 

years ago was 19 : 5. If difference 

between ages of mother and 

daughter is 28 years what will be 

the ratio of their present age? 

Type-3

Ex:- Five years ago the sum of 

the ages of Father and Son was 

60 years. The ratio of present 

ages is 4 : 1. What is the 

present age of father? 

प्रकार-4

उदा:- 4 साल पहले माां और उसकी

बेटी की उम्र के बीच का अनुपात 19: 
5 था। यजद 5 वर्ष बाद माां और बेटी की

उम्र के बीच अांतर 28 वर्ष है तो उनकी
वतषमान उम्र का अनुपातक्या होगा?

प्रकार-3
उदा:- पांच साल पहले पपर्ा
और पुत्रकी उम्र 60 वर्ष थी।
वर्षमान युग का अनुपार् 4 : 

1है पपर्ा की वर्षमान उम्र
क्या है?
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Ex:- The ratio of the present age of A and B is 3:4. After 5 years, the ratio of 
the ages of A and B will be 7:9. What will be the present age of A and B ?
उदा:- A और B की वर्षमानआयुका अनुपार् 3: 4 है। 5 वर्ों के बाद, A और B की
आयुका अनुपार् 7: 9 होगा। A और B की वर्षमानआयुक्या होगी?

E04613

(A) 35, 40 (B) 30 , 40 (C) 35, 45 (D) 40, 35 (E) None of these



Ex.: Present ages of Rani and Kamran are in the ratio of 5:6, respectively. 7 yr 
hence, this ratiowill become 6:7, respectively. What is Rani’s present age?
उदा:- रानीऔरकामरानकी वर्षमानआयुका अनुपार् 5:6 है। 7 वर्ष बाद इनका
अनुपार् 6:7 होगा। रानी की वर्षमानआयु ज्ञार् करो ? 

E04613

(A) 35 (B) 42 (C) 42 (D)49 (E) None of these



Ex.: Four years ago, the ratio of A’s age to B’s age was 11:14 and four years 
later, their ages will be in the ratio 13:16. The present age of A is-
उदा:- 4 वर्ष पहले A र्था B कीआयुका अनुपार् 11:14 था , 4 वर्ष बाद उनका
अनुपार् 13:16 होगा। की वर्षमानआयु ज्ञार्करो ? 

E04613

(A) 44 yers (B) 48 yers (C) 56 yers (D) 52 yers (E) None of these



Ex.: Pushpa was married 6 years ago. Her present age is 5/𝟒 times of the age at 
the time of her marriage. Her son’s age is 𝟏/𝟏𝟎th of her present age. What is 
the present age of her son?

(A) 5 yers (B)6 yers (C) 3 yers (D) 8 yers (E) None of these



Ex.: Atul is 30 years younger than his uncle today. 5 years ago Atul was 
𝟏

𝟒
th times as old as his uncle. How old will Atul’s uncle be 5 years from 

today ?

Sol: Let the present age of the uncle be x years
Atul’s present age = (x – 30) years

and uncle’s age 5 years ago = (x – 5) years
Atul’s age 5 years ago = (x – 30 – 5) years = (x – 35) years

(x – 5) 1/4 = x – 35
4x – 140 = x – 5
4x - = - 5 + 140
3x = 135
x = 135/3 = 45 years 

Age of uncle after 5 years = 45 + 5 = 50 years

(A) 50 yers (B)60 yers (C) 45 yers (D) 55 yers (E) None of these



Ex.: Age of Satish who is 40 years old, is 
𝟒

𝟕
times of Madan and Madan

is older than Ajay by 50 years. If Vijay’s age is just between the age of 
Ramesh and Ajay and Ramesh is 30 years old, what is age of Vijay?

Sol: Satish’s age  = 4/7 of the age of Madan
40 = 4/7 of the age of Madan

Madan’s age = (40×7)/4 = 70 years
Ajay’s age = 70 – 50 = 20 years

But Ramesh’s age = 30 years
Vijay’s age = (20+30)/2 = 25 years

(A) 50 yers (B)25 yers (C) 30 yers (D) 35 yers (E) None of these



Ex.: After 6 years Pradhan’s age will be 𝟑/𝟕 times the age of his father. 
10 years ago the ratio in the age of Pradhan and his father was 1:5. 
What is the present age of Pradhan’s father ?

E04613

(A) 50 yers (B) 40 yers (C) 60 yers (D) 70 yers (E) None of these



Ex:- If the ratio of present ages of Raju and Ramu is 7:8 and respective 

difference between Ramu's present age and Raju age 3 years hence is 2 years, 

then what is the product of present ages of Ramu and Raju ?  

उदाहरण:- यपद राजूऔर रामू की वर्षमानआयु का अनुपार् 7: 8 है और रामू की

वर्षमानआयुऔर राजू की 3 वर्ष बाद कीआयु में अंर्र 2 वर्ष है, र्ो रामूऔर राजू की

वर्षमानआयु का गुणनफलक्या होगा है? 

E04613

(A) 150 yers (B) 140 yers (C) 160 yers (D) 130 yers (E) None of these



Ex:- Average age of a couple at the time of marriage was 24 years. After 2 years 

of marriage they had a son and after another 3 years they had a daughter. 

What will be the average age of entire family after 10 years of their marriage? 

उदाहरण :- पववाह के समय एकजोडे कीऔसर्आयु 24 वर्ष थी। शादी के 2साल बाद
उन्हें एक बेटा हुआऔर 3 साल के बाद उनकी एक बेटी हुई। उनकी शादी के 10 साल
बाद पूरे पररवार कीऔसर्आयुक्या होगी?

E04613

(A) 20 yers (B) 20.5 yers (C) 25 yers (D) 35 yers (E) None of these



Ex: If 6 years are subtracted from the present age of Manjeet and the remainder is 
divided by 18, then the present age of his grandson Tarnjeet is obtained. If Tarnjeet is 2 
years younger to Madan whose age is 5 years, then what is the age of Manjeet ?
उदाहरण: यपद मंजीर् की वर्षमानआयु से 6 वर्ष घटाए जारे् हैं और शेर् 18 से पवभापजर् पकया
जार्ा है, र्ो उसके पोरे् र्रनजीर् की वर्षमानआयु प्राप्तकी जार्ी है। अगर र्रनजीर् मदन से 2 
साल छोटा है पजसकी उम्र 5 साल है, र्ो मंजीर् की उम्रक्या है?
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Sol : 

E04613

(A) 54 yers (B) 60 yers (C) 55 yers (D) 65 yers (E) None of these
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